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TS-1 : FOUNDATION COURSE IN TOURISM 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions in about 600 words. 

All questions carry equal marks. 

1. Discuss the importance of tourism as social 20 
phenomenon. Also explain different forms and 
typology of tourism. 

2. Why is tourism regarded as an Industry ? Describe 20 
its major characteristics. 

3. "Accommodation sector needs a lot more 20 
innovations in the country". Discuss. 

4. Explain the techniques and aspect involved in 20 
Guiding and Escorting a tour. 

5. Why is information important in tourism ? Discuss 20 
various sources of information. 

6. Discuss the importance of ecology of India as a 20 
major tourist attraction to a group of foreign 
tourists. 
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7. 	Differentiate between product and service in 20 
tourism. Also explain the unique features of 
services as associated with tourism industry. 

	

8. 	How is history used or misused in tourism ? 
	

20 

	

9. 	Explain the following : 	 10+10=20 
(a) Carrying capacity 
(b) Political implication of tourism 

10. Explain the third world tourism as an agenda for 20 
social concern. 
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